FH=a—FR (3= AL B Q Y HE

PHY. C340 | F:Hf[E (R4 PR 2—0—0 3Q Ve

PHY. C341 | MM BR Y 1 2—0—0 4Q LR

PHY. C342 | P B Y 11 2—0—0 2Q RERRCE), AL

PHY. C343 | {LF48i s 2—0—0 4Q 7R

PHY. C344 | 7T X~y 2—0—0 4Q LS

PHY. E205 | ERER S 2—1—0 1Q CPEH, S )

PHY.E212 | SEREES: 11 2—1—0 3Q Ak, BHCH), HER

PHY.E310 | #EREEF 111 2—1—0 2Q R, B

PHY. F350 | JE1kZ4eis 2—0—0 3Q SR, B

PHY. F351 | &K 4P 2—0—0 4Q YN

PHY. F352 | FHi# By 2—0—0 4Q ey

PHY. F353 | —fAH I 2—0—0 1Q HERF

PHY. G230 | AW EL AR 1—0—0 1Q CRA, RE
THE, W, KEEG),

PHY.G332 | WHF D707 47T 2—0—0 2Q TE gg i);(g;*;ﬁ
RE, ZEIL, BRI, e

PHY. L201 | #pBREHRY 1—0—0 3Q Pe P
EE, OAHE, BRAS, FOK,

PHY. L1202 | #BR5- 920k A 0—0—2 19, 4Q i; ﬁw%m({if\?%??‘%%;
ok, o @E), —/ 8
ER, OAHE, BRAS, FOK,

PHY. 1203 | #PR52926% B 0—0—2 19, 4Q i; ﬁ%ﬁ(#f i{?g%@%
sk, Lnee), — /8

PHY. L1210 | FtE4EE 1—1—0 4Q S (f)

PHY. M204 | WERE# 1 2—1—0 1Q PR, BRI

PHY. M211 | #BR%7 11 2—1—0 2Q CHEAR, JRNL

PHY. M330 | #BR%7 111 2—1—0 1Q I

PHY. Q206 | fifh /177 2—1—0 2Q T (B), #al

PHY. Q207 | &1 /1% A 2—1—0 3Q TR, HERS, B

PHY. Q208 | &1 /152 11 2—1—0 4Q CEGHE, AL

PHY. Q311 | &7 /1% 111 2—1—0 3Q AR, HEEF

PHY. Q331 | FHXERAVE T 7% 2—0—0 2Q LrE)

PHY. S209 | #0775 (W) 1—1—0 3Q RELUCHN G

PHY. S301 | #aH/H% 2—1-0 1Q ks, A, el

PHY.S312 | #eat /1% 11 2—1—0 2Q CHEAR, BN, fRo
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PHY. 7393 | L4 ClE 7T oY =7 b 3c (WFLIER) 0—0—3 3Q, 4Q ==
PHY. 7394 | ZHAFERET 1Y =7 b de (WFLZER) 0—0—4 3~4Q B Y=
PHY. 7395 | L4 ClE 7T 0P =7 b e (FLER) 0—0—5 3~4Q KHB
PHY. 7396 | L4 CiE 70 =7 b 6c (MFLER) 0—0—6 3~4Q RS 4=
PHY. 7397 | WER=2 S b o Hapss 0—0—6 ;Nig 4B
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